(—Bh2 BEKSEYvH—EH ° R ERES ES =
sxre JUBA A [ =m re | ok 5
7ybit—LAhvF2014 F12EAVTARVTFTUAR) =G EBEKREYYH—DTIRAT1/3)L 2[EE
A | 2014&11H 288(%) 1330 | AEM (905 EE0, PRE| 254 ERE SV —1BBY 5o R
x 1% BB [EvFRE X%z 2EBRT mE. g & BE | B R #340 A
AR B— NI BESR gl & 1 E LN EIDEH B KE B
* E AR F— HIE BiE 8 O8RS Fig &
B & S 0 Al ¥ 0 B/ B /A
revs 0 ® % 0 = au )
xﬂﬁ{*ﬁx:ﬁ 1 0 EE_FWE# 0 0 *me%A satellite
(AR HE28K) 1 EREE 0 (MR RFR)
PKE KICK OFF
xR Sa—hk B . =R EAES . 5 a—hk it
'%%E%Faﬁllﬂfﬁﬂﬁ‘nﬂ ®ign| &t = £ F A S|E|E|E £ F A BRI mﬁmﬂlaﬁaﬁ%
0 BH A 31[GK|GK| 1 RER BIE 0
1 1 == its 22|DF|DF]| 3 h# £ 1 1
0 #E 2 6 |[DF|[DF[ 19 i K& 2(1i1
1 1] 2 I E/N 25|DF|DF| 5 BA it 1 1 77
0 FEE R 15|MF[MF| 6 FE # 0
110 11 2 Pk aEk 18|MF[MF|[ 7 WE #iith 0
63 0 Al & 32|MF|MF| 25 FilE @A 11 106
1] 1 =e =B 4 IMF|MF]| 22 WE EA 0
104 1 1] 2 R#F K& 11|MF[MF[ 10 Bk #hth 3[1i2 94
75 1112 BH OSSR 8 |[FW|MF]| 12 =E B 1] 1 72
3 3 Hep BE 28|FW|FwW| 9 ff BN 2 1i1 68
TalE MR T [GK|GK] 16 R =—
1 NITRE PN 34| DF|DF| 2 Ik EZ 0 5
18 it G 29| DF|DF| 26 2 e
WA BEiX 2 IMF[MF| 8 i K— 1 1 12
Bl RiE 27|MF|MF] 13 AR FE= 0 25
32 2 21 AH EA 10[mF[Fw] 18 i@ K#0 2 111 10
8 1 1 W HE 17|FW|FW| 27 A FEAKER 0 9
L . B E B E B )
RFME | B K £ B8 FO—F) B Fa—F) RFME | E K 4
51 | c2 |8 B RE ESE BT 5 ag (WIERESE) 87 | C2 |6 HE #
ESNTIE SRS A iIgriklo0+1] c2 [22 g ZFa
4:2(6ia]l16]>a—r[14]5i6[1i2
1i0]2i9]12] GK 6 [1i2]1i2
1i0[l2i2] 5 CK 714i2]1i0
2i0fl9ie| 17| EEFK| 18] 41121
oioft1iof 1 |REOsEFK| 9 [ 3i4]1:1
oioflt1io|l 1 |rovam| 8 2i4]1i1
oiofoio] o PK ofoiofloio

GED) 77V AFEOBFIE. BT —FvI8D535. A THARICLELDERLTLNS,
[ZEEH] CLRAKR—YMITA. C257TL 1. CEEE. C4IRYIRLDER. C5EBEITA. COEEMT R, CTENFTA, COEHT X
GRIBIEA] SUELLARELTL A, S2ERAITA. S3DIEME, S4BT AMSIEIE(F) ., S5F AL (), S6:4E5F, CS:Z&2ME

B F—LA {%,I.E.‘% TIRE BEBE (~:FUT I > FF9URKR, 1 SRERIR, S va—b HATAUY)
107 | RIAK [10: KE BB | 18: P 3REk [A£-1: 18 1 idm-1i 10 iERES
PKEL D28 1] 2] 3| 4 5] 6] 7] 8] 9] 10] 1 12 ] 13| 14 ] 15| 16

BB

(%)
O SVWP/C
EES

(#%)
O SVWP/C

[&%]

(O:FY SV:T—LF—/S—IZ&kBMHL W:HBHNAHNLEKER P/C:ARRMERIEIARN—IZH Y %K)




